Step b

2 Test / Mix: A
1) 1. ... £c2 threatens 2. ... £xd1 and 2. ... £)b3+ (double attack: targeting)
2) 1. He8+ HExeB8 2. Exe8+ &f7 3. Wh5# (mate in three)
3) 1. ... &Hb3+ 2. axb3 & c5 (double attack: knight)
4) 1. He6 fxeb 2. Wg5+ (double attack: clearing)
5) 1. Exh7+ &xh7 2. Ehd+ &g7 3. Whs# (attacking the king: access)
6) 1. ... Wxg2+ 2. Hxg2 Hfa+ 3. &gl Hh3# (double check: luring)
7) 1. Wd4 BEd7 2. £Hf6+ (discovered attack: targeting)
8) 1. Hdxc4 (1. Ecxcd? HEb2+ 2. el (2. Hfl Hf8+) 2. ... Hxg2) 1. ... Eb2+ 2. Hc2 (a pinned piece is not a
good defender)
9) 1. h4 Eg3 2. &h2 (trapping: chasing)
10) 1. Exh6 gxh6 2. £ f6 (attacking the king: access)
11) 1. ... Exe2 (1. ... »f4? 2. 213 Hxh3+ 3. &fl) 2. Exe2 Hf4 (double attack: luring)
12) 1. £.c4+ 2xc4 2. Ed7 (elimination of the defence: luring away + mate / seventh rank)

3 Test / Mix: B
1) 1. Wxa6 bxa6 2. £.a5 1. Wxa6 bxab 2. £a5 (X-ray attack: elimination of the defence)
2) 1. ... £2c22. We2 2 xa4 (double attack: bishop thanks to a pin)
3) 1. Hf8+ Wxf8 2. 2 xh7+ &xh7 3. Wxf8 (elimination of the defence: and material)
4) 1. Eh8+ (1. Wh3 f5; 1. Wo3 Wxed) 1. ... £xh8 2. Wh3 £e5 3. Wh7# (magnet)
5) Drawing
6) 1. g6+ (1. BEf6+ Wxf6 2. Wxf6+ He8 3. Wxe5) 1. ... HHxg6 2. Eh7# (elimination of the defence: blocking)
7) 1. &Hxd6 Wxd6 2. 2 f4 (X-ray attack: luring)
8) Drawing
9) 1. Hexd5 Wxg3 2. Ed8+ Exd8 3. Hxd8+ &h7 4. hxg3 (discovered attack: in-between move)
10) 1. a7 &e5 2. Haxc8+ (double attack: knight luring away)
11) 1. d5 Wrxd5 (1. ... exd5 2. Hg3+) 2. W6+ g8 3. Wxf7+ Hh8 4. Ws# (elimination of the defence: interfering)
12) 1. Ee7 (1. Wxd7? &Hxd7 2. Ee7 &He5) (pin: attack on a pinned piece)

4 Mate in two: A
1) 1. &5 (1. ... DHxc2 2. &.xc2#) 1. ... Wxe3 2. L.d7#
2) 1. Wod+ He2 2. Wast#
3) 1. £d2+ &g4 2. Hgb#
4)1.b4 Hal2. Hcl#
5) 1. h4 Exa2 2. hxg5#
6) 1. f4 bxca (1. ... &xed 2. Hc5#; 1. ... Ec2 2. Hedd#) 2. He5#
7) 1. W7+ Hxf7 2. HHh6#
8) 1. Hgb+ Wxgb (1. ... Whxgb 2. Wha#; 1. ... xg6 2. Wxg7#) 2. Wl#
9) 1. ... Bd3+ 2. cxd3 L.d4#
10) 1. He6 &xe6 (1. ... dxe6 2. Hf7#; 1. ... B8 2. Lhh6#) 2. L.d3#
11) 1. Wds+ Hxd5 (1. ... £xd5 2. xd3#; 1. ... Exd5 2. Hed#) 2. Hb5#
12) 1. e3¢5 (1. ... g1W 2. Hed#; 1. ... d5 2. He2#) 2. Hb5#

5 Mate in three: A
1) 1. We5+ Hh6 2. Eh5+ gxh5 3. WieH
2) 1. Wh8+ Hb8 2. Wal+ Wab 3. Wxab#
3) 1. Wa5+ bxab 2. axb7+ &h6 3. h8W#
4) 1. Wh7+ g4 2. WS+ Hh5 3. Zh7#
5) 1. Wdl+ &h6 2. Whi+ Hh4 3. Wxha#
6) 1. Wal+ g6 2. Wql+ Hf6 3. Wob#
7) 1. Ehe+ ¢ogb 2. Wdl b1W 3. Whs
8) 1. We5+ We7 2. Hd8+ Hxd8 3. Wha#
9) 1. Wa7+ Hab 2. Hxad+ bxas 3. Wc5#

10) 1. Wo7+ Hf5 2. He5+ Wxe5 3. Wob#



11) 1. Wg8+ Hxg8 2. f84)+ &h8 3. Eh7#
12) 1. ... Exb4+ 2. cxbd Wa2 3. Wc2 Wab#

6 Mate in three: B

1) 1. Eh2+ &g6 2. £2h5+ Hh7 3. 2 f7#

2) 1. fa+ gxf3 2. W4+ &h5 3. Wha#

3) 1. b4+ Hxb4a 2. Wdd+ Has 3. W3k

4) 1. g4+ Hxha 2. W6+ g5 3. Wxho#

5) Drawing

6) Drawing

7) 1. Eb8+ &xab6 2. Hb6+ Hxb6 3. Hc5#

8) 1. Ea8+ &xa8 2. Hd7 A 3. Ha2#

9) 1. Hg5+ &xgb 2. D7+ Hhb 3. ga#t
10) 1. Hgd+ Hxgd 2. Ed5+ Hxd5 3. Hf5#
11) 1. Eh6 gxh6 2. h3+ h5 3. Lf7#

12) 1. c8&+ &ab 2. Hba Hd6 3. Hc5#; 2. ... e5 3. Db8#

7 Mate in three: C
1) 1. WgB+ Hxg8 2. Hxg6+ hxgb 3. Hh3#
2) 1. Hab+ Exd8 2. Wh8+ Exb8 3. HcT7#
3) 1. Wxb8+ pxb8 2. Ed8+ &Hh7 3. Ebs#
4) 1. Eh8+ &c7 2. Ec8+ £.xc8 3. Wxc8#
5) 1. Ec8+ Exc8 2. Wh8+ He7 3. HHxc8#
6) 1. Hxfe+ Hf8 2. Hgxh7+ Exh7 3. Wgs#
7) 1. ... )gl+ 2. Hha O3+ 3. Hh5 (3. ©h3 Hrf2#; 3. &xf3 Bh2#) 3. ... HHf6H
8) 1. Hxg8+ &xg8 2. Wfs+ Hxf8 3. Hb8#
9) 1.... 292+ 2. g4 Hfa+ 3. gxf4 &h3#

10) 1. Wal+ Pe3 2. Wel+ pd4 3. We3#

11) 1. d3+ £.xd3 2. W5+ Hxf5 3. & xd3#

12) 1. Be7+ &f8 2. He8+ &Hxe8 3. We7#

8 Thinking ahead / Mate: A
1) 1... £2bd+ 2. Hf1l Wdl+ 3. Hf2 Lel+ 4. Hfl Lg3#
2) 1... Wxc2+ 2. &d4 Wd3+ 3. &c5 b6+ 4. Gc6 Wd7#
3) 1. &hh6+ bh8 2. W7 £e7 3. WgB+ Hxg8 4. HT#
4) 1. Wxg6+ fxg6 2. £ xd5+ Wxd5 3. f7+ Wxf7 4. HEhe#
5) 1. Wd5+ HHxd5 2. £.g4+ be5 3. Hf5+ eb 4. exds#
6) 1. ... Hca3d+ 2. al Hcl+ 3. Hxcl He2+ 4. bl Hba3#
7) 1. &Hf4+ Bgb 2. Heb+ g6 3. D8+ Hf7 4. Web#
8) 1. »h7+ g8 2. HHf6+ &8 3. Eh8+ £.xh8 4. Ws#
9) 1. He7+ dxe7 2. ihgb+ &f7 3. Exh7+ Exh7 4. WigH

9 Thinking ahead / Mate: B
1) 1.... Ha2+ 2. &xa2 Eb2+ 3. al Ha2+ 4. dxa2 Wh2#
2) 1. Hcb+ b5 2. Ha7+ Lab 3. Ha3 g1W 4. ba#
3) 1... Wal+ 2. Hxal Ha3d+ 3. a2 Hc2+ 4. b3 (4. bl Hxal#) 4. ... Ha3#
4) 1. Hb6+ a7 2. Hc8+ a8 3. Wa7+ Hxa7 4. Hb6
5) 1.... Ehl+ (1. ... »2g4+? 2. hxgd Hxga+ 3. ©h3) 2. 2 xhl Wxh3+ 3. &gl Wxhl+ 4. Hxf2 Hgd#
6) 1. Wxc5+ bxch 2. £a3+ cd 3. L5+ (3. £.b3+ dxc3) 3. ... oxc3 4. Lba#
7) 1. .. Bcl+ 2. b2 Hd3+ 3. a3 Had+ 4. bxad
8) 1. Eb6+ &xc5 2. b+ &d4 3. Ed3+ dxcsd 4. De3#
9) 1. 5+ Hxe5 2. dd+ Hxd4 3. Wxf4+ Hcb 4. Wed#

11 Pawn endings / Breakthrough: A
1) 1. c6 bxc6 2. bxa6
2) 1. g6 gxh6 (1. ... hxg6 2. h7) 2. gxh7
3) 1. c5 bxch 2. a5
4) 1. g4 &c5 2. 5 gxf5 3. gxh5



5) 1...b4 2. &d4 (2. cxb4 c3) 2. ... a3 3. bxa3 bxa3
6) 1. f6 gxf6 (1. ... eb6 2. fxg7 &F7 3. h6 g8 4. bcd Hf7 5. &d5 g8 6. g6 hxgb 7. Heb) 2. g6 hxgb 3. hé
7) 1. c6! (1. c4? c6) 1. ... bxc6 2. c4 &f4 3. b5 cxb5 4. cxb5 axb5 5. a6
8) 1. b4 cxb4 2. ¢5 bxc5 3. b6
9) 1.a6c4 2. b6
10) 1. g5 &h8 2. c4 bxc4 3. b5 c3 4. b6
11) 1. f5 gxf5 2. h5
12) 1. ...a5 (1. ... a6? 2. axh5 axh5 3. a3 &c3 4. a2 Hxb4d 5. b2 Hcd 6. &c2) 2. bxas b4 3. a6 b3+ 4. a3 b2
5.a7 b1¥ 6. a8W Wh3#

12 Pawn endings / Breakthrough: B
1) 1. g6 (1. h6? g6 0-1) 1. ... b2 2. h6
2) 1. b5 (1. c5bxc52. b5 c4 3. b6 c34. b7 c2 5. b8W c1W+) 1. ... Hf6 2. c5 &eb 3. c6
3)1...b4 (1. .. &d3 2. h4 &xc3 3. h5 d4 4. h6 d3 5. h7) 2. cxb4 d4
4) 1. d6! exd6 2. d5! fxe4 (2. ... exd5 3. exf5) 3. dxe6
5)1...94 (1. ... h4 2. gxh4 gxh4 3. d5) 2. d5 h4 3. d6 hxg3 4. d7 g2 5. d8W g1+
6) 1. ... €3 2. fxe3 fxg4 3. &ed g3 4. &f3 gxh2 (4. ... g2? 5. f2)
7) 1. a6 (1. b6 axb6 2. a6 &c6) 1. ... g4 2. b6 cxb6 (2. ... g3 3. bxa7 g2 4. a8W+) 3. cxb6 Hcb 4. bxa7
8) 1. a4 (1. d5? c5) 1. ... bxad 2. d5 cxd5 3. b5 a3 4. &b3 (4. b6? d4+ 5. b3 d3 6. b7 d2 7. &c2 a2) 4. ... d4
5. &xa3 d3 6. b2
9) 1. g5 h4 2. f4 h3 3. f5 h2 4. fxg6 h1¥ 5. g7+ &h7 6. g8W#
10) 1. f6 gxf6 2. exf6 &d6 3. g5 &e5 4. gxh6 Hxf6 5. &h3 e5 4. Hxb4
11) 1. a5 (1. &c6 &c8 2. a5 bxab 3. b6 cxb6 4. Hxd6 &d8=) 1. ... bxa5 2. ¢5 dxc5 (2. ... a4 3. ¢6 a3 4. b6) 3. b6 cxb6
4.d6
12) 1. g4! hxg4 (1. ... gxh4 2. gxh5 h3 3. ©f3 h2 4. g2 h1¥W+ 5. xhl f5 6. h6 &f6 7. e5+) 2. h5 5 3. h6 Hf6
4. e5+

13 Pawn endings / Key squares: A
1) 1. ed Hxd4+ 2. oxd4 ¢eb 3. &c5 1-0
2) 1. Hed f3 (1. ... &d6 2. dxd4) 2. &xf3 Hd5 3. He2 ded 4. Hd2 1o-Ys
3) 1. b8! (1. a7? &c7=) 1. ... bxab 2. &c7 1-0
4) 1. Hf2! (1. He2? Hxed) 1. ... dxed (1. ... &xgd 2. He3! g5 3. Ld4 Hf6 4. Hd5 He7 5. eb) 2. Hg3! Heb
3. &h4 &f6 4. Bh5 g7 5. g5 &h7 6. &6 h6 7. g5+ &h7 8. HF7! (8. g6+? &h8! 9. &F7 stalemate) 8. ...
&h8 9. &g6! (9. g6? stalemate) 1-0
5) 1. h5 (L. &f6 &h6 2. de7 &g7 3. h5 1-0; 1. f5? gxf5 2. Gxf5=) 1. ... gxh5 2. &xh5 g7 3. &g5 &f7 4. &5
&e7 5. &gb6 1-0
6) Drawing
7) 1. b8&+ (1. b8 H b6+ 2. Wxb6+ &xb6=) 1. ... b6 2. HHxch dxcb 3. dcd 1-0
8) 1. ... ®a8 2. h6 a5 3. Hxadb a7 4. b5 Hh7 -
9) 1. f4 (1. g8W+? xg8 2. &fd Hf8l) 1. ... g8l (L. ... &xXg7 2. &g5) 2. f5! HFf7! 3. g8W+! bxgs 4. &g
1-0
10) 1. a3 (1. @a3 a5 2. d6 b6 3. ©ba Hcb 4. Hab Hxd6 5. b6 1-0) 1. ... &c5 2. ad &xd5 3. b5 &d6
4. b6 &d7 5. b7 1-0
11) 1. oha (1. &g4? g6 2. 4 &6 3. ded deb 4. dd b3! 5. cxb3 &d6=) 1. ... &gb 2. g4 &6 3. Hf4 Heb
4. Hed Hd6 5. &d4 b3 6. cxb3 &cb 7. Lcd b6 8. b4 1-0
12) 1. obl! (1. &c3? a3 2. b4 &e5 3. b3 &d5 4. dxa3 &6 5. bad &bb=) 1. ... a3 (1. ... &e5 2. Ha2 &d5
3. a3 &ch 4. dxad &b 5. &b4) 2. b3! He5 (2. ... Leb 3. a2 &db 4. ©xa3 &cs5 5. bad Hhb 6. Hb4d)
3. a2 &d5 4. Hxa3 &c6 5. Lad! Hb6 6. Lba 1-0

14 Mini plans / Pawn structure: A

1) 1. ... e4 (White’s f-pawn remains an isolated double pawn. The moves 1. .. 2 xc3+ 2. bxc3 e4 3. 0-0-0 exd3 4.
H hel+ &f8 gives Black advantage as well, but significantly less. Later the bishop can become useful and later
&6 can jump to b4.) 2. 0-0-0 exd3 3. Ehel+ 267 (3... &8 4. cxd3 h5 5. h4 £e7) 4. cxd3 Hb4 5. Hc5

2) 1. We5+ Wxe5 (1. ... We7 2. Hf4 (2. Wh8+ Wd8 3. Wxa7 is for the braves, Black has no compensation) 2. dxe5
Hd5 3. 2.c4 (or 3. Exh5). An improved pawn structure and win or a pawn is the result.

3) 1. f4 (1. £3? g5). An easy exercise, but not for everybody. Two pawns play a role, on the de f-file (that is the reason
that White can improve his pawn structure) and on the 4" rank (that’s why 1. f3 is no possible). After 1. f4 the
g-pawn is pinned, because after capturing and en passant the two pawns on the 4" rank disappear.



4)1.a4 Hd6 (1. .. Ha3 2. Eal HHc2 3. Ha2) 2. a5 £.¢7 3. ab. Making the opponent’s pawn structure worse.
5) 1. dxc4 (1. bxc4 a5 resolves the double pawn but gives Black a passed pawn.
6) 1. b4. Prevents Black resolving his double pawn.
7) Drawing
8) 1. ... axb6 (Opening a file, the double pawn plays no negative role. Na 1. ... £xb6 2. £ h3 Black is hardly better.
Gaining time by the attack on a2 is important. All Black’s pieces can become active now.) 2. a3 £.d4 3. /Hd3 215
4.e4 £2e65. He2 2c4
9) 1. &Hxe5 Hxe5 2. Wd4 Wxd4 3. cxd4. Improving the pawn structure.
10) 1. £.a3 c5 2. &Hd5. Weakening the pawn structure of the opponent. The knight will get a square in the centre.
11) 1. c5! (1. a4 £.d7! 2. Efbl Hxad 3. Exb7 Hxc3! 4. £.d3 £.c6) and now 1. dxc5 fails to 2. Efbl &Had 2b5.
12) 1. ... &Hd5+ (not immediately 1. ... ¢4 while square the king can go to d4) 2. &f2 ¢4 3. £e2 c3 4. bxc3 &xc3.
Weakening the pawn structure of the opponent.

15 Mini plans / Pawn structure: B

1) 1. Wh3 Wxh3 (1. ... Wab6 2. £xg7; 1.... £d32. Efdl) 2. axb3 b6 (2. ... a6 3. £xg7) 3. Exa7 c54. Eb7+ &8
5. Hal £d6 6. Ea8+. Opening a line, the double pawn doesn’t play a negative role. Gaining time is crucial.

2) 1. e5dxe5 2. Hd7 (or 2. £Hxe5) 2. ... a5 3. Wxe5. Weakening the pawn structure of the opponent and the d-file
will be opened. The rook can enter

3) 1.... b4 2. cxbd Wxc2 3. 2xc2 £2xc2. Weakening the pawn structure of the opponent and Black has the pair of
bishops.

4) 1. ... 0-0 (After 1. ... Wxf3 2. gxf3 &\ f6 3. 0-0-0 the double pawn is weak but White still has an extra pawn)
2. Wxf6 HExf6 3. £e2(3.f3 Heb+-3.... Ze8+ 4. Hed!) 3. ... &H)xf2 4. Hfl Haf8

5) 1. ... gxf6 2. &£Hd2 5. Opening the g-file is useful for Black. Black’s double pawn controls centre squares.

6) 1. £f1 £e82. c4 (2. 2b6 Hf7 3. c4 HHd6) 2. ... bxcd 3. £xca+ (Resolving a double pawn)

7) 1. b4 Wd6 2. bxc5 Wxc5 3. Wxc5 bxc5 4. B f3. Resolving a double pawn although White’s position remains
worse.

8) 1. ... a5 Weakening the pawn structure of the opponent. A common way to shift the first pawn of the chain a2/b3/
c4 to b3. Black can attack the b3-pawn, not the a2-pawn.

9) 1. ... gxf6 (1. ... Hxf6 2. LxF7 Hxf7 3. Wxeb+ &gb 4. h5#; 1. ... Wxf6 2. 2.xd5 exd5 3. g6+ &d7 4. £ xh8)
A matter of elimination. Black must accept a weaker pawn structure, the lesser evil.

10) 1. ... Wa6 2. Wxa6 (2. Hdl Wxd3+ 3. Exd3 HEc24. Ed2 Hbc8) 2. ... bxa6 3. Ecl Excl+ (3....a4) 4. &xcl
a4. Opening a line, the double pawn plays no negative role. Black gets the c-file or can easily resolve the double
pawn.

11) 1. &Hb2 (1. a3 Hb5 2. bxcd Ea5 3. /b2 &e7 and Black’s pieces are active enough) 1. ... £3b6 (1. ... cxb3 2. axb3
Hb73.Hcd He7 4. Haborl....c32. H\cd) 2. ¢3 Hb5 4. b4 &Hd7 5. HHixcd. White’s active pieces give more
than enough compensation for the (mostly temporarily) material disadvantage. White avoids at all costs weak
double pawns.

12) 1. ... 2e6 (1. ... &£xf32. Exf3 Hc83. £b30-04. Hdfl Wd6 5. Hbl) 2. £ xeb fxe6. Black accepts a double
pawn to limit White’s activity. Black’s position is worse but can be defended.

16 Pawn endings / Pawn races: A
1) 1. g7 a2 2. g8W a1 3. Wa8+ (2. ... a3 3. Wq7)
2) 1. f6 h3 2. f7 h2 3. f8W h1W 4. Wha# (4. Was+? Wxas)
3) 1.d7 e2 2. d8WY e1Wy 3. Wa5+
4) 1. 96 h3 2. g7 h2 3. g8 h1W 4. Wao#
5) 1. b5 h4 2. ed! h3 3. &f3 h2 4. &g2
6) 1. g6 b3 2. g7 b2 3. g8 b1 4. Wad+ dhba 5. Wh7+
7)1.h6 b2 2. h7 b1W 3. h8W+ Gyl 4. Wg7+ Hfl 5. Wg2+ Hel 6. We2#
8) 1. &c3 (or 1. &d3 a3 2. g7 b2 3. &c2 Ha2 4. g8W+) 1. ... a3 2. g7 b2 3. g8W b1 4, Was#
9) 1. d6 &f6 2. d7 (2. h6 b3 3. d7 &e7 4. d8W+ Hxd8 5. h7 1-0) 2. ... &e7 3. d8W+ Hxd8 4. h6 b3 5. h7 b2
6. h8W+
10) 1. h6 c3 2. h7 c2 3. &d2 &b2 4. h8W+
11) 1. &g5e4 2. h6 €3 3. h7 €2 4. h8W elW 5. Wh4+
12) 1. &d7 ¢4 2. a6 c3 3. a7 c2 4. a8W+ 4 5. Wa3

17 Pawn endings / Pawn races: B
1) 1. &g7 (1. £g8?e4 2. h6 e3 3. h7 €2 4. h8W; 1. h6? Hf7) 1....e4 2. h6 €3 3. h7 €2 4. h8W e1W 5. WeB+
2) 1. a6 e3 2. &d3 &3 3. a7 e2 4. a8W+



3) 1. &b6 (1. ©b5? f4 2. a5 3 3. a6 f2 4. a7 f1W+ 5. Hb6 Wf3) 1. ... f4 2. a5 Yo%
4) 1. &cb (1. £d6? Hcd) 1....952.a5094 3. a6 g3 4. a7 g2 5. a8W g1W 6. Wa7+
5) 1. &d6 b5 (1. ... ©b8 2. Fe7 b5 3. d6 b4 4. d7 b3 5. d8W+) 2. &c7 b4 3. d6 b3 4. d7 b2 5. d8W b1 6. Wd4+
Pab 7. Wad#
6) 1. g6 (1. d5? &f5; 1. $f6? h4 2. d5h3 3. d6 h2 4. d7 h1W 5. d8W Wha+) 1. ... h4 2. d5h3 3. d6 h2 4. d7 h1W
5. d8W
7) Drawing
8) Drawing
9)1.c6
10) 1. &cb (1. ©d6? &d8; 1. b6 &d7 2. b7 eb)
11) 1. &f2 &h2 2. h6 g3+ 3. Hf3
12) 1. &b6! ¥-; 1. &c6?

18 Pawn endings / Defending: A
1) 1. ... 6 (L. ... &f6? 2. g5+ hxg5+ 3. g4 &g7 4. xg5) 2. ed He8 3. Hf5 Hf7
2) 1. b2 (1. b4? &c2!) 1. ... d4 2. b4 d3 3. b5 e 4. b6 d2 5. b7 d1¥ 6. hSW
3) 1. &d3 (1. &d5 Hg6 2. Heb Hh5 3. Hf6 Bh4 4. H5 Hxh3 5. bxg5 &3 6. Hh5 HxF3 7. Hha &g2
8. g4 f3; 1. &d4 ©gb) 1. ... b6 2. be2 dh5 3. &2 dhd 4. &g2
4)1...95 (L. ... g6 2. h6 g5 3. h7 g7 4. oxgs &xh7 5. &f5; 1. ... 2eb 2. g5 &7 3. &15) 2. h6 g6 3. h7
&xh7 4. &xg5 &g7
5) 1. h4! (1. c8W+ Hxc8 2. h4 &d7; 1. h3 &xc7) 1. ... gxh3 2. c8W+ Hxc8
6) 1.... &c5 (1. ...e5 2. g4 &c5 3. g5) 2. dxeb
7) 1. f3 (1. ®a3 g4; 1. f4 h4 2. gxh4 gxf4 3. h5 £3 4. h6 2 5. h7 f1W) 1. ... &d3 2. h4 gxh4 3. gxh4 e3 4. &b2
Hxf3 5. &c2 ©g3 6. £d2 Hxhd 7. e2 Hg3 8. Hfl
8) 1. ... f5+ (1. ... gxh5+ 2. xh5 &b6 3. g6 Hb5 4. Hxf6 Hxbd 5. He7 &cb 6. Heb and White wins.) 2. &g5
gxh5 3. &xh5 b6 4. g5 b5 5. Hxf5 Hxb4 6. Hed
9) 1. a5 (1. c5+ bxch+ 2. &cd c6 3. dxcb xcb 4. &c3 &d5 5. 2 &4 6. a5 ba 7. b2 ¢4 8. &c2 ¢3 9. Hcl
Hxab 10. &c2 &b4; 1. Hc3 &b 2. b3 b5 3. cxb5 axbs 4. a5 (4. axb5 &xb5 5. &3 &5 6. d6 cxd6)
4. ... Hxd55. Hba Hcb 6. a6 b6 7. a7 c5+) 1. ... bxas 2. c5+ He7 3. &cd
10) 1. ... &d7! (1. ... &e7 game Kamali-Van Duyn Schagen, 2004 2. &5 &8 3. &6 &e8 4. e6 Hf8 5. &eb)
2. &d5 &c7 3. &d4 (3.6 6 4. €7 Hd7 5. e8W+ BHxe8 6. b 5 7. Hxb6 f4 8. a7 3 9. b6 2 10. b7 f1 W
11. b8W+) 3. ... 2d7 4. el Heb
11) 1. &h2! (1. g2 &hd 2. $h2 3 3. &gl &xh3) 1. ... 15 2. g2 &e5 3. Hfl &f6 4. g2 &f55. hd g6
6. ©h2
12) 1. &d6 (1. b3 Lab5! 2. Hxb7 b4 3. Hcb ab 4. b6 &xb3 5. Hxc5 ad; 1. Hh8 Hh6 2. a8 a5 3. b8 Hcb
4. &a7 (4.b3b5) 4. ... a4) 1. ... b6 2. &C7 a5 (2. ... b5 3. &cb! (3. cxb5+ &xb5) ) 3. &b8

19 Tactics / Seventh rank: A
1) 1. ... Hxe2 2. Exe2 Wxh2+ 3. Hxh2 Hxh2#
2)1. Ebl Ha6 2. Ebb7 Hcl+ 3. &h2
3)1. HEh7 Eb6 2. Heg7 He6 3. Hg8+ (3. Eh8+) 3.... HeB 4. Exe8+ Hxe8 5. Eh8+
4)1... HBee22. Hdl Exg2+ 3. &fl Hef2+ 4. el Hgl#
5) 1.c4 £xc4 2. 21 2xf1 3. Wxf7+
6) 1. Bf7 208 2. Hxg7 Wxe5 3. Exh7#
7) 1. He8 Hxe8 (L. ... 08 2. HExd8) 2. £.d4+ g8 3. g7+ &h8 4. Hxg6+
8) 1. Hc7+ &d8 2. /Hcb+ £.xc6 3. Hb7+ 8 4. a8W#
9) 1. Hh7+ &g8 2. 2.d5+ £h8 3. N h1W 4. LHxg6#
10) 1. Ede7+ &d8 2. Hh7 a2 3. Heg7 alW 4. Eha#
11) 1. £b2 Hc2 2. £a3+ g8 3. £e7 (3. Haad? H16 4. Exe8+ &h7; 3. He7 Hxe7 4. £xe7 6) 3. ... He5
4. Exe8+ &Hh7
12) 1. 5)g5 h6 2. Hf6 &.xd7 3. Exhe#

18 Strategy / Seventh rank: A
1) 1. Ed7 Eb82. 2d6
2) Drawing
3) 1. Ed8+ &h7 2. Ed7
4)1. HEc4 A2. Hc7
5)1. Hadl Ed52.c4



6) 1. £b6

7)1... Hg8

8) 1. .. He8+A2. .. He7

9)1... He8A2. .. He?

10) 1. ... Bc8 A 2. ... Hc?

11) 1.... Ec8A2. ... I8 A3. .. He8

12) 1.... Ec82. Exb7 Ecl+ 3. &g2 Hc2+

21 Discovered attack / Clearing: A
1) 1. Bxd7 (1. £)g6+ fxg6 2. Exd7 Wa8) 1. ... Exd7 2. &g+
2) 1. ... &Hxd5 2. cxd5 exf4
3) 1. ... &Hg3+ 2. hxg3 £.xg2+ 3. Hxg2 Exd4
4) 1. e5 Hxe5 2. Hxe5 L.xe5 3. 2.xa8
5) 1. ... Exe3 2. fxe3 M3+
6) 1. EXc6+ bxc6 2. £h3+
7) 1. ... Hfd7 2. Ebded
8) 1. d7+ Hbxd7 2. Hd6+ £.xd6 3. £.xab
9) 1. £xc7 Wxc7 2. Hb5 Whe 3. Wxgd
10) 1. 6+ (1. £)g5 Wxc2 2. Wh5 £xg5 3. £xf7+ &h8 4. £.xe8 Exe8) 1. ... gxf6 2. LxF7+ dxf7 3. Wxad
11) 1. 2 xf6 £xf6 2. HHg5 £.xg5 3. £xb7
12) 1... Wxal 2. Exal £h2+ 3. Hxh2 Hxa8

22 Discovered attack / Eliminating the defence: A
1) 1. axb7 Wxb7 2. Hxf6+
2)1.... &f2
3)1... Exd2 2. Exd2 £b5+
4)1...f52. £xc6 (2. £f4 Wd8 3. Hadl fxed 4. Wxe4 Wd5) 2. ... &xf2+
5) 1. &Hf5+ (1. Exgb+ xgb 2. Wxe7 Efl#) 1. ... gxf5 2. Hgb+ xgb 3. Wxe7
6) 1. Hxd4 cxdd 2. Hg3+
7) 1. &Hd8 h6 (1. ... Exd8 2. We8+ Hxe8 3. Axe8#; 1. ... 2xd8 2. He8#) 2. Hxb7 HExa4 3. bxad
8) 1. ... b5 2. HHa5 Hed+
9) 1. £xc6 £.xc6 2. Hd5
10) 1. ... Wc3 (L. ... Wha 2. Wal) 2. b3 Hf3+
11) 1. b5 HEc5 2. HHh5+
12) 1. ... &el 2. ExF7 (2. Wxel Hxf2 3. Wgl Bfl)2. .. Wfl+ 3. Hxfl Hxfl#

23 Discovered attack / Eliminating the defence: B
1) 1. Exe5 (1. Hxfe+ £.xf6) 1. ... dxe5 2. Hxf6+
2) 1. Hxd6+ cxd6 2. HEc8+ Exc8 3. Wxh5+
3) 1. Exc7+ &xc7 2. Ecb5+
4) 1.4 £d6 (1. ... £al 2. Wh1) 2. Wh2+ &f7 3. Exc5
5) 1. Exe6+ fxe6 (1. ... 2xe6 2. £b5+) 2. 2xg6+
6) 1. ... Wxfl+ 2. & xfl £ xa2+
7) 1. b4 cxb3ep 2. £ xg7+
8) 1...052. L3 Hg3+
9) 1. ... 2xe5 2. dxe5 W5+

10) 1. Wxh6 gxh6 2. S 7+ g8 3. Hxh6H

11) 1. g5 16 2. L.ca+

12) 1. ... Wxf3 2. gxf3 exd5

24 Discovered attack / Setting up a battery: A
1) 1. ... &Dc7+ 2. &ab Hxd5+ 3. b5 Hc3#
2) 1. ... Wh8+ 2. &7 He8+ 3. b7 Wxe5
3) 1.... Wd3+ 2. g2 HHfa+ (2. ... HHe3+? 3. fxe3+)
4) 1. ...45c22. Bbl Hel
5) 1. .. £d42 Wd2 2xgl
6) 1. & c8+ La8 2. Ne7+ a7 3. LHxcb#
7)1. £e7 He82. 2b4



8) 1. ... We2+ 2. Hh3 Wfl+ 3. Gga Exfa+ 4. exf4 Wxb5
9) 1. £)c5 Wh6 2. Hxd7
10) 1. g3 Wh3 2. g4
11) 1. ... Eb4 2. Wa3 H g4 3. Wh3 Hxg5
12) 1. ... Wfl+ 2. ©h4 (2. g3 W3+ 3. hd Wgd#) 2. ... W4+ 3. ©h5 2.3+ 4. g6 Wxd4

25 Pin/ Clearing: A
1) Drawing
2) Drawing
3) 1. c4 bxc4 2. Hc3
4) 1. e6 fxeb (1. ... Wxe6 2. Wxb4) 2. He5 Wd6 3. L 1xcb
5) 1. £d1 E5h6 2. Eb3
6) 1. &)xc6 bxc6 2. 2 xe5
7) 1. e6 fxe6 2. He5
8) 1. ¢5 bxch 2. £b5 Hed 3. Hxc6 Hxc3 4. Hxba+
9) 1. d5 2 gds 2. Wd4
10) 1. ... £xe2 2. Exe2 Hxb3
11) 1. ... §Hd2+ 2. HHixd2 Exf7
12) 1. ... &Hxc3 2. bxc3 Wxd4

26 Pin / Eliminating the defence: A
1) 1. Exe7 HExe7 2. £xf6
2) 1. ... b3 2. axb3 £)d8
3) 1.... £xf3 2. gxf3 €5
4) 1. &xe7 (1. Hel? & c5) 1. ... Exe7 2. Hd6
5) 1. H)d5 Hxd5 2. £.b5
6) 1. ... 5)e5 2. We2 (2. &f6+ £.xf6 3. Wxd5 Hxd5) 2. ... f5
7) 1. Hb6 (1. Ea7? &c7) 1. ... &5 2. Ebb8 &Hd7 3. Exd7
8) 1.... 208 2. Wc5 Hxd3
9)1... £b22. Hc2 £d4
10) 1. Wxe7 Hxe7 2. &5
11) 1. Exd4 exd4 2. Wf5 (2. Wed &xd5)
12) 1. ... Hc4 2. B xcd Wxe5

27 Pin / Eliminating the defence: B
1) 1. Exe6 fxe6 2. Zf3
2) 1. Hxed dxed 2. £.c4
3) 1. ... Hxd4 2. exd4 £.h6
4) 1. Hd6+ 2.xd6 2. Wxf5
5) 1. &Hh6+ gxh6 2. g3
6) 1. ... 2xc4+ 2. bxcd Eb2
7) 1. &Hxe5+ fxe5 2. £.93
8)1. £ed4 Hd22. Hcl
9) 1. Wf5 &6 2. h5
10) 1. b4 £b6 (1. ... £.xb4 2. 2xb4) 2. Hc4
11) 1. Wc3f6 2. &c4
12) 1. ... Hg3+ 2. hxg3 Wh5+ 3. /Hh2 Wxe2

28 Pin / Targeting: A
1) 1. Ee8+ Hh7 2. Wxf5+ & xf5 3. Hxa8
2) 1. Whl+ Hh8 2. Wa2
3)1...Wc52. £b3e5
4)1...e42. Hg5 e3
5) 1. Wcs+ be7 2. Hxds
6) 1. b4 £a4 2. b5
7) 1. Wb7 H8 2. b5
8) 1.... Ha8 2. Wxb6 £xb3
9) 1. £b3 Hd8 2. Wxe4



10) 1. &e3 Was 2. &\c2
11) 1. &hcd WS 2. £)b6 (2. £H)e3? Hixe3 3. Wxd8 &H)xd1)
12) 1. Wed+ (1. Bb7? Wxb7) 1. ... &h8 2. Eb7

29 Pin / Attacking a pinned piece: A
1) 1. ... £e82. Wxc7 £xb5+
2)1... Bd6(1.... ZEac82. Exc8; 1... Ha62. He6 (2. Edcl? HEc8) 2. Edcl HEc8
3) 1. ... Wd52. &xh3 (2. Hgl Wf3) 2. ... Wf3
4) Drawing
5) Drawing
6) 1. £d4 Hab 2. b4 £.xd4 3. WeB+ Hd8 4. Wxd8+ Hf7 5. Wxd4
7) 1. &d4 a5 2. c4 a4 3. c5+ b5 4. 2xc7 a3 5. &c3 (5. £e5? a2 6. &d3 &xch
7. &d2)
8) 1. ... Hd7 2. Wd6 Hb8 3. Wxe5+ f6
9) 1. He7+ Hh8 2. 4 cb6
10) 1. £b6! (1. c3? £.65 2. Hxd5 exd5 3. £b6 &d7 (3. ... He7 4. £.d4 (4. &c5 Hc?); 1. Hed? £e5=) 1. ...e5
2. Hxd4! (2. £xd4? Heds!)
11) 1. ... &Hc5 2. He3 Hxed (2. ... Wxd4 3. Hf6+) 3. Exed Wxd4
12) 1. f4 Ehf8 (1. ... Ebf8 2. Web) 2. Web

30 Opening / Choose the best move: A
bold = correct move
bold + italic = acceptable move
1) 1. e4-e5
The recommended move (theory as it is called). It is clear that White has played the &) d4xc6 the previous move.
The consequence is the advance of the e-pawn. The condition is that White knows sufficient theory. The main
line continues 1. ... We7 2. We2 &H\d5 3. ¢4 £.a6. The pieces of both White and Black are somewhat in the way.
Resolving that without sufficient knowledge is a bridge too far for a student of the 5% step.
1. Hbl-c3
A safe move, even with insufficient theoretical knowledge. White abandons the hope for advantage. Black plays
1..... 2b4 2. £.d3 d5. Both sides can finish the opening with normal healthy moves.
1. £c1-g5
The pin is harmless. Black plays 1. ... h6
2)1. ... 2f8-e7
Not good. White does play 2. 5 now Black has to sacrifice a pawn with 2. ... £)d5. Returning to g8 is hardly an
option. White develops with 3. £d3.
1. ... £18-b4
The theoretical move. Healthy development because the advance e5 is out of the question (2. 5 We7). Capturing
on c3 is not directly intended but White is forced to protect e4 with 2. 2d3 (2. Wd4 We7).
1....d7-d5
Just possible. Black must play accurately. See next position.
3) 1. £f1-d3
A development move but harmless. Black also develops with 1. ... £b4 or 1. ... 2d6.
1. e4-e5
Not to be recommended. See position 5.
1. e4xd5
The best move although Black is not really worse. See next position.
4) 1. £1-d3
Black can position his pieces relatively active. He starts with 1. ... ¢c6 and after 2. 0-0 £.d6. A check is not scary:
the bishop from ¢8 can go to e6. In such positions the knight on ¢3 is a bit clumsy placed. It looks at the protected
centre pawn on db.
1. £f1-b5+
A quick development is needed. Black holds with 1. ... £d7 2. £xd7+ Wxd7 3. 0-0 £e7 4. £95c65. £2xf6
£xf66.. Hel+ £e7 7. We2. White’s play is based on preventing castling but that doesn’t work. Black can
choose from 7. ... Ec8 ( Ec7-7.... Eb8 8. We5 is a mistake) or 7. ... f5 to play &f7.
1. £c1-g5
Not dangerous. Black plays 1. ... c6 and 2. ... £e7. Black has a centre pawn!
5)1.... Wd8-e7



White can protect the pawn on e5 easily with 2. f4 and then the queen on €7 is in the way of the bishop.
1. ... §f6-d7
Not bad but 2. f4 is sufficient.
1. ... §Hf6-g4
After this move it is White who has trouble to keep equal chances (if possible). See next position.

6) 1. £.c1-f4
Black gets an advantage with 1. ... f6 2. We2 &5 or 2. exf6 Wxf6 a position that will come back later.
1. Wdl-e2
This move fails because of 1. ... £.¢5 2. £ d1 0-0. White will not have the time to chase away the knight from g4.
1. Wd1-d4
Absolutely necessary. The black bishop must be kept away from c5. Attacking e5 is the best Black can do:
1... We7 2. £f4 16 3. 0-0-0 fxe5 4. Wad.

7)...0-0
This healthy development move is probably the best. After 2. 2.e2 (more or less the only move because Black
threatens to attack the e-pion with Ee8). With 1. ... f5 Black can keep the pressure on the e-pawn for a while.
Winning the e-pawn with 2. ... Wg5 is less good: 3. 0-0 £ xe5 4. Had Hd7 5. Hixcs Hixch 6. £.xc7 because it
leads to a worse position (bishop pair and a better pawn structure for White) 3. 0-0 (but not 3. h3 because of 3. ...
f4) 3... a5 (to keep £.¢5 on the diagonal to the king). Nice position for black.
1...16
A good move for Step 5 even though White can equalize and that’s only possible with 2. £)a4. Capturing on 6
leads after 2. ... Wxf6 to position 9. Much stronger is 2. ... 0-0 with a winning position.
1. .. We7
This move is acceptable if the black player can foresee what will follow. White plays 2. 22 & xe5 3. & xd5 and
now there is nothing else then to sacrifice an exchange: 3. ... cxd5 4. Wxd5 0-0 5. Wxa8 c6! 6. Wh8 (only move!)
with equal chances. White can avoid the complications with 5. ¥xe5 and even then it’s even.

8) 1. ... Bxf2+
Winning a pawn by force. Black makes use of the unprotected knight: 2. £xf2 & xf2 3. Hxf2 Wha+,
1. .. £ba+
This check loses time. After 2. ¢3 £.e7 Black can no longer profit from the knight on a4.
1. .. We7
This move seems odd but after 2. £ xc5 Wxc5 3. 2.e2 Wh4+ wins a pawn. White has compensation after 4. c3
Wxh2 5. 0-0. The first line (1. ... £xf2+) is definitely a better choice.

9) 1. Wd1-d2
Usually the normal move but here the pressure on f2 is too powerful after 1. ... 0-0.
1. Wdl-e2+
Putting the queen on the same file as the king doesn’t look right but it is as good as the next possibility. After
1... &f7 (1. ... &d8 2. 0-0-0 and the black king is badly placed after 2... Ze8 3. Wc3 or 2. ... &Hxf2 3. Hxd5)
White must continue with 2. W3,
1. Wd1-f3
Exchanging queens is the lesser evil. After castling kingside Black has the more active position.

31 Opening / Choose the best move: B
1) 1. ... &Hxb3 a necessary intermediate move 2. axb3 exd4.
1. ... exd4? fails to the double attack 2. Wel+.
1. ... £.b6 costs a pawn although black gets some play (White hasn’t quite finished development yet), both after
2. dxe5 as well after 2. Eel 0-0 3. dxe5 dxe5 4. Hxe5) 2. ... dxe5 3. HHxe5 0-0-0 4. Wgd+ Hb7 5. Hd7.

2) 1. ... d4 fine because the knight doesn’t have a good square to go to. (2. &bl £b4+ 3. £d2 dxe3) 2. exd4 after
the alternative, Black can weaken the white pawn structure. 2. ... exd4 3. We2+ (3. Ab5 £ b4+ 4. £d2 We7+
5 We2 & xd2+ 6. Hxd2 £e6) 3. ... 2e7 4. Hed 0-05. Wd3 Hxed 6. Wxed 2 ba+.

1. ... £b4 White can largely limit the disadvantage with 2. cxd5 £ xd5 3. £.d2 and the same goes for the third
choice £.e6.
1.... 26 2. cxd5 Hxd5 3. 2.d2.

3) 1. ... c¢6 Black has several good moves, logical because White is attacking with too few pieces. Chasing back
pieces is a good strategy. Black only has to calculate that 2. Hc7+ (2. Hb6 Wxb6) 2. ... Wxc7 3. Wxf7+ Hd8 is
harmless. Other acceptable moves are 1. ... f6 and 1. ... £)h6. White must take care of his knight on d5.

1. ... &gf6 wins no tempo because White just trades. After 2. £ xf6+ D xf6 3. Wh3 We7 there’s nothing wrong.
Equal position.
1. ... £.d6 This move is no good. White wins material with the discovered attack 2. £\b6 (don’t greedily take



a pawn with 2. & xc7+ because of 2. ... Wxc7 3. Wxf7+ &d8 4. Wg7 Hdf6 5. Wxh8 Wxc4 and White is
completely undeveloped) 2. ... &gf6 3. £)xa8.

4) 1. HHxe5 necessary because after other moves Black has no problems (to blame is the passive development of the
bishop to €2) 1. ... & xe5 2. d4 £.d6 3. f4 &)c6 4. e5 and now White’s a little better after 4. ... 2b4 5. exf6 Wxf6
6. b5 £.a5 7. ¢3. The bishop on a5 has little future for the time being.

1. Ha4 White wants to exchange the bishop, but it takes time. Black can play 1. ... £e7 and continue developing.
The knight has to go back sometime. Sharper is 1. ... &Y xe4 2. d3 (or 2. £xc5 Dxc5 3. HHxe5 Zxe5 4. d4 d6 with
insufficient compensation for the pawn) 2. ... Hxf2 3. Exf2 & xf2+ 4. &xf2 d5. Usually the exchange of two
light pieces for rook and pawn is not good because all active pieces disappear from the board. This is different
here because of the strong centre and the low activity of all white pieces.

1. d3 Black can become active with 1. ... d5. White has developed his f1 bishop too passively.

5) 1. cxd5 The black advance d5 in the centre is not to be punished, in fact white may be glad that the disadvantage
remains within the limits. 1. ... exd5 2. exd5 &b4 and now only 3. d6 avoids a clearly worse position. 3. ... Wxd6
4. Wx6 5. 2 xb6 and Black must first regain his pawn with 5. ... £ fd5 6. 22 Z\xc3 7. bxc3 E xe2. Better is
3.... 218 4. Hadl Hbd5 5. Hxd5 Hxd5 6. £.f2 Wxd6. There’s not much going on, although a grandmaster will
say, “I’d rather have black.”

1. Efd1 Thoughtless development costs a piece: 1. ... d4.
1. & c2 Black can worsen white’s pawn structure with 1. ... dxe4 because 2. Wxd8 Eaxd8 3. £xb6 Ed2 is not
possible.

6) 1. £.xe4 That’s not the first move you’re looking at, but it’s relatively the best option. Black can develop further
with 1. ... 0-0 (preferably not 1. ... £)xe4 2. fxe4 and square 3 is cleared for the knight.) or play active with
1. ... Wb6 (capturing on b2 and e5 becomes a possibility). After 2. Eb1 0-0 Black is better.

1. &) xe4 This costs surprisingly a pawn after 1. ... &xed 2. £ xe4 f5 3. £d3 £ xd4.
1. fxe4 & g4 wins a pawn with a good position.

7) 1. ... f5 Chasing the knight away the hard way is good (1. ... 2f6? 2. £g5). Na 2. £)c3, Black should be careful
that White cannot not push d4 too easily, so 2. ... &c6 (2. ... & f6 3. Df3 £.d6 4. d4). The knight move also makes
e4 possible after 3. 2)f3 e4 4. {Hg5 Heb.

1. ... &)c6 Playable. White develops further with 2. £f3 £.e7 3. d3 and plays &)e4 back to g3 when it’s attacked
by a piece.

1. ... 2f5 Abandons the protection of b7 and White can become active with: 2. Wf3 £ g6 3. £ g5 P f6?

(3. ... Hh6 is better but gives insufficient compensation after 4. Wxh7) 4. Wh3 and wins and is therefore better
than 4. Wxb7 Hbd7 5. Wh3 We7.

8) 1. &Hf5 Direct action gives an advantage. 1. ... Wf8 (1. ... exf5 2. Hel 2e5 3. Nf3) 2. Hcd &.c7 (2. ... Le7
3.b3) 3. Hel & cb6 4. Wxds.

1. He4 0-0 (1. ... £e52. Hf3 £.c7 3. 295 is less good) and White is a little better after 2. c4 £Hf6 3. Hxd6
Wxd6 4. £\b5. In the endgame, White has the majority on the queenside although realizing such an advantage
requires technique. White also has a bishop who can easily work on two wings.

1. c4 & f6 White weakens its pawn structure and that is no match for chasing the knight out of the centre. On f6
the knight defends. Furthermore, the pawn deprives square c4 of the knight.

9) 1. ... 0-0 Developing is the right plan. Castling is more useful than the knight move to c6. After 2. c4 Wa5+
3. £2d2 Wad White is a little better because of the pair of bishops. At Step 5 level it is certainly not a deadly
weapon because the realisation requires a lot of technique.

1. ... 2b5 is a blunder because with luring White wins material thanks to an X-ray attack: 2. ¢4 £xc4 3. 2 xc4
(but not 3. Wad+ b5) 3. ... Wxc4 4. Hcl.

1. ... &c6 2. c4 Wa5+ 3. £.d2 followed by 0-0 and £.d3. White has the centre, the pair of bishops and more
space, so more possibilities for his pieces.

10) 1. d5 White must take immediate action. 1. ... £xf3 (The pawn move is possible because 1. ... £ xe5 2. Hxe5
£xd1 3. £b5+ ends wrong.) 2. Wxf3 £xe5 3. 2b5+ )d7 4. 0-0 f6 5. £.f4 (5. £a3 b6 6. Hael e5 7. Exe5+)
5...a66. £d3g67. Hael.

1. Ebl Not really a gain of tempo because the answer is equally useful. 1. ... Wc7.
1. h3 Not bad but not as good as 1. d5. Black must go back with the bishop: .1. ... £e6 (1. ... £xf3 2. Wxf3 cxd4
3. bl Wd7 4. £b5 and White is better)
11) 1. ... £e4 2. f3 (after 2. ¢3, 2. ... £d5 is correct; 2. ... £xh1 3. Y xf7 gives white advantage) 2. ... Wxd4.
1.... £h7? has a simple refutation 2. 2xf7 &xf7? 3. Wxe6+ g6 4. 2.d3#.
1. ... &xg4 costs a piece after 2. HHxg4 Wxd4 3. f3 or 3. He3.

12) 1. &Hb3 White should prevent Black from playing c5 or e5. That gives him more space. 1. ... €5 (1. ... €5 2. £)xc5)
Now after 2. dxe5 & xe5 the d-pawn is hanging: 3. Wxd5+. Insertion of 1. .... a5 2. a4 does not change much.

1. £d3 is awkward because Black can play 1. .... e5 (better than 1. ... ¢5 2. dxc5 &)c6) 2. dxe5 & xe5 and White is



in trouble with the king in the middle (3. £ xe5 Wxf2# is not possible, of course.
1.c3 Hc6 Butnot 1. ...e52. 2d3 exd4 (2. ... e4 3. xed dxed 4. Wh3+ Hf7 5. £ xed) and White has to play
2. Hb3 after all.

32 Opening / Choose the best move: C

1) 1. Ha3 1.... £xe5 (1. ... a6 2. Hacs &cb 3. £93! On immediately 3. Hxd6+? Wxd6 4. g6, 4. ... Wxd4 is
very strong. White loses material - the knight on h8 is always lost.) 2. dxe5 & d5 3. & b5 and the knight enters. On
3. ... Wd7 follows 4. £ d6+ &8 5. £.e3. White has a big advantage of course.

1. &Hec3 From c3 only &\b5 threatens and that is easy to parry. It is not always best to have a knight on c3.
1. c3 leads to an isolated pawn. Good if White would have attacking chances but there is no chance of that. There
are too few pieces left, so the d-pawn is only a weakness: 1. ... cxd4 2. cxd4 £c6.

2) 1. Wg4 After other developing moves Black can castle and although White is better (more space), in the right
moment Black will come with ¢5. 1. ... &f8. Losing the right to castle is a permanent disadvantage (the black king
is more vulnerable and it is difficult to bring the h-rook into play) 1. ... 6 2. Wxg7 Hg8 3. Hxf6+) 2. Hel
because 2. ... f5 is no threat because of 3. Wf3. Black remains on c8 with a passive bishop.

1. £f40-0.
1. Wf3 0-0.

3) 1. ... e6 Black hasn’t finished his development yet, but he has to be careful. The pawn move closes in the bishop
on c8 but otherwise 2. d5 will follow. On the next move, &6 is a good move.
1...b52. 2d5 (2. 2xf7+ is the better possibility which requires some calculation but there is no danger for
White, since the move does not really cost material, no risk: 2. ... Exf7 3. &e5 e6 4. Hxf7 &xf7 5. Hed £.d7
6. 9 g5+) 2. ... Hxd5 3. Wxd>.

1... &c6 2.d5 Hat 3. Efdl b5 4. 2e2 £b7 The knight on a7 is rather passive. 5. &e5 looks at square c6
(when Black plays his knight to ¢8) and frees up f3 for the bishop.
4) 1. g4 The weakened black pawn structure and the king in the middle allow a direct punishment. 1. ... £d7 2. £d3
£97 3. Exh7.
1. Wd2 White retains the advantage, but Black is still in the game: 1. ... £)c6 2. 0-0-0 £.g7.
1. & ge2 Delays development and takes time. After 1. ... £.97 2. £Hg3 Wd7 Black Black can continue with £)c6
and 0-0-0.
5) 1. ... Wa5 The unpinning of A& f6 goes with tempo 2. Wc2 (2. Ecl dxcd) 2. ... Hed.
1....0-0 2. Wb3 or 2. 0-0.
1. ... dxc4 (hoping for 2. £xc4 Wa5) but 2. £xf6 solves the problem.

6) 1. ... d5 A tactical solution to develop with tempo. After 2. Wxd5 (2. Wa4 £d7) 2. ... Wb+ 3. £d2 Wxb2
4. &3 (better 4. £b5 £d7 but Black is better.) 4. .... £2b4
1. ... f6 White develops with tempo: 2. £)c3 fxe5 3. £d5 ¥Wd6 4. 0-0-0 with a huge development advantage.

1. ... d6 is better, but now2. &\c3 follows (2. £.b5 gives Black time 2. .... £d7 3. £)c3 and now no 3. .... dxe5
4. Hd5 but 4. ... 0-0-0).

7) White is a pawn down but the black queen is vulnerable in the line of the rook and she has to protect squares d6

and 6. White has more good moves but opening the position is by far the best.

1. d4 cxd4 (1. ... Wxd4 2. Hd6+ ©f8 3. 2h6+ g8 4. W3 Wxd6 5. W6 Wdd 6. Wxe7) 2. £95.

1. Wf3 f5 2. W3 Wxce3 3. Hd6+ &8 4. dxc3 h6 5. £.e3 White wins back the pawn and stands better.

1.d3 d5 2. £Hixc5 Wd6 (2. .... Wd4 3. £Hb3 and 4. d4 and the knight comes to ¢5) 3. d4 all white pieces are good.

8) 1. Hed 1. ... Hab (1. ... b6 2. c5 bxcs 3. 2.e3).

1. £.95 is only fun when Black takes: 2. Wxb7 but he plays 1. ... f6 2. £e3 f5 and all plans with £e4 are no
longer possible.
1. 0-0 too quiet. After 2. ... &Hh6 (2. ... 26 3. 2,95 Wc7 is less good) Black can castle.

9) 1. ... d5 In positions with the king in the middle and a development deficit, an open e-file is easily disastrous.
Returning material with tempo is then necessary.. 2. 2 xf6 Wxf6 3. Wxf6 gxf6 4. £xd5 and black survives. Also
2. Bel+ 266 3. 2xf6 gxf6 gives no advantage.

1. ... £.e7 Slowly preparing castling is less good. After 2. £ xf6 gxf6 (2. ... £xf6 has a bad ending after 3. Zel+

&f8 4. Wd5; also 3. ... 27 4. Wxg7 H85. Hc3 with the threats £)d5 and doubling rooks on the e-file.

Material is equal!) 3. Hel Black has to give back a pawn with 3. ... d5 (3. ... 0-0 4. Wg4+ &h85. £d3 d5 6.

Wh4) 4. 2xd5 (4. Wxfe X f8 is disappointing because 5. £.xd5 does not work because of 5. ... 2.e6) 4. ... £.e6

5. c4 ¢6 6. £ c3 and White keeps attacking.

1. ... d6 isn’t really useful. White gets the advantage with 2. Eel+ 2e6 3. £xe6 fxe6 4. Exe6+ &7 5. He3.
10) White can win pawn d4. What brings the best position?

1. £e2h6 (Or1. .. Hed 2. 2f4 26 3. 0-0 and now, for example after 3. ... g6 4. exdd Hxd4 5. Hxd4 £xd4

6. £.f3 White always gets his pawn back while maintaining active play) 2. £ xd4.



1. £.d3 is not bad either, but White has to give up the bishop of the black squares and that is a pity: 1. ... h6
2. 2 xf6 £xf6 3. 0-0 Wd6 4. b4 Ead8.
1. &Hxd4 is the wrong choice: 1. ... Hxd4 2. Exd4 Wxd4 3. exd4 2ba+ 4. Hdl Hel#.

11) 1. &Hxed4 is clearly the only move. After 1. ... dxe4 2. £hd2 h6 3. £h4 g5 4. £.93 f5 5. €3 5 f6 6. £.c4 White will
proceed with f3.
1. £.f4 Not good because after 1. ... £)xc3 2. bxc3 e6 3. e3 ¢5 it is Black who is better.
1. &xd5 costs a piece in a simple way: 1. ... &Yxg5 2. Zxg5 e6.

12) 1. £.g5 Not for lazy calculators but the best. 1. ... £xf3 (1. ... f6 2. &Hxe5; 1. ... Hde7 2. Hbd2) 2. Wxf3 Wxg5
3. £xd5 0-0 4. £2xc6 bxcb 5. Wxch is a fairly healthy pawn gain.
1. £b50-0 (1. ... f6 2. &H)xe5) 2. £.xc6 bxcb 3. h3 is enough for equality. More dangerous is 3. E xe5 Wd6 with
play for the pawn.
1. & xe5 seems nice and wins in all cases except after 1. .... &xf2+ 2. &xf2 (after other king moves 2. ... £xd1
will be the answer) 2. ... Wh4+ and because 3. g3 Wxh2 will be mate) 3. ... £xd1 will follow next move.

33 Endgame / Rook against pawn: A
1) 1. &2 &d2 2. Hd8+ &cl 3. &e2c2 4. Hc8 &b2 5. &d2
2) 1. eb e3 2. Hd5 ©f3 3. ©d4 e2 4. £d3
3) 1. &d7 &cd 2. &eb d3 3. e5 &3 4. ed d2 5. He3
4) 1. ... Hf12 Hf8+ He2 3. Ee8+ &fl 4. &f3d2
5) 1.... e3
6) 1.... &d4! 2. Ef8 He3 3. &cd f3 4. He8+ Hd2!
7)1...e3(1... ®e5?2. Hel; 1. ... 24?7 2. be6 e3 3. Bd5 e2 4. &d4 ©f3 5. ©d3 Hf2 6. 2d2) 2. 2d6 Hed!
3. &c5 &d3 (3. ... €27 4. 4 el 5. &3 Hf2 6. ©d2)
8) 1. &b7 Hcd 2. ©ab b3 3. a5 &c3 4. ad b2 5. a3
9)1... &f22. Efg+ el! (1.... 2f1?7 2. e3; 1. ... ©f3?72. HfB+)
10) 1. He5 &f6 2. Eb59g3 3. Eb3
11) 1. ... &f4 2. Hd8 %e3 3. g4 d3 4. Hed+ (4. &g3d2) 4. ... Hf2!
12) 1. ... &c5 (1. ... b4 2. Ed5) 2. g7 b4 3. &6 b3 4. Eb8 Bcd 5. &e5 Hc3 6. bed b2

34 Endgame / Rook against pawn: B
1) 1. Eb7 (1. &b7 &b5 2. a7+ &a53. Eb7) 1. ... dcd 2. b6
2) 1. Ecl &d4 2. &b6 c3 3. &b5 &d3 4. b4 c2 5. b3
3) 1. Bel+ &f32. Hdl &ed 3. &c7 d4 4. &b d3 5. 5 He3 6. dcd
4) 1. &hlle32. Ha2+ Hd13. Ha8e2 4. Hd8+ &el 5. &c2 &f26. Hf8+ el 7. He8
5) 1. .. &ed (1. ... ®e3?2. Eh2 c4 3. &d5) 2. &d6 c4 3. Hc5¢34. HEdlc25. Ecl &d3
6) 1. ... 204 2. &c6 &f4 3. &d5 g4 4. Ebd+ Hf35. Hb3+ &f4
7) 1. Bd8+ &c2 2. He8 &d3 3. &f5e34. f4
8) 1. g4 Le3 2. &g3d3 3. Hel+
9) 1. Eb7 (1. Ec7+ &d4 2. Eb7 &cd 3. &c7 &c54. Hb8 b4 5. Hb7 &ed 6. b6 1-0) 1. ... b4 2. &c7 &ed
3. b6 b3 4. a5
10) Drawing
11) 1. Ebd+ &d5 2. Hb5e4 3. Ebl! 2d4 4. b4 £d3 5. Hb3e3 6. Edl+
12) 1. Ef2+ (1. &c7 g5 2. ©d6 g4 3. &d5 g3 4. &d4 Hf4 5. ©d3 &f36. Ha8g2=) 1. ... eb2. Eg2 &f6 3. &c7
g5 4. &d6 &f55. d5 Hf4 6. ©d4gd 7. Hf2+

35 Endgame / Rook against pawn: C

1) 1. &7 (1. &d7 &d5) 1. ... &d5 2. Hd7 Hed 3. b (Reti 1921)

2) 1. &d1g32. Hc2+ Hf13. Hc8g2 (3. ... &f24. Hfs+ be3 5. el g2 6. Bg8 &3 7. Hg7) 4. Hfs+ byl
5. ®e2 &h2 6. Hh8+ gl 7. Eg8 &h2 8. &f2

3) 1. &d6! g4 2. &d5 B4 3. Hdd B3 4. &d3 g3 5. Hf7+ g2 6. be2

4) 1. ded g2 2. ©f3 glip+ 3. ©f2 ©h2 4. Eh6+ Hh3+ 5. Hf3

5) 1. Ebl! (1. &a7? &b52. Ebl &a5 3. Hal+ b5 4. Ebl &a55. b7 b5 6. Hc7 Hc57. Ecl+ d4h)
1. ... &c5 2. a7 Hb5 3. b7 a5 (3. ... ©c5 4. Hab) 4. Hcb

6) 1. Ec7b3 2. &d5 La2 3. &cd b2 4. Ea7+ &bl 5. b3 el 6. Ec7+ &bl 7. Ec8 dal 8. Ead+ &bl
9. Ea2 &cl10. Exb2

7)1. Ha8 (1. Ealb4 2. Ebl b5 3. &c7 &eb) 1. ... b4 2. Hb8+ &c5 3. &e7

8) 1. ab! (1. b Hc2 2. Hb5h3; 1. Hh6 Hc32. Hc7+ &d2) 1. ... ©c22. Hc7+ d2 3. Eb7 &c3 4. a5 b3
5. a4 b2 6. a3



9) 1. &h5 (1. Bf6+ &gd 2. Heb &4 3. Hh5 ed 4. dhd 3 5. Hh3e3 6. Ef6+) 1. ... e4 2. bha Hf3 3. bh3 e3
4. Ef6+ He2 5. g2
10) 1. &h6 (1. &gb &f2; 1. Hf6 H2) 1. ... Hf22. 8+ He3 (2. ... g2 3. &g5 g3 4. g4 Hh2 5. Ehs+)
3.508 &f3 4. &h5 g3 5. hd g2 6. Hh3
11) 1. Hg3+ ®a2 2. Ega! (2. ©d6? b4 3. &5 b3 4. b4 b2 5. a3+ bl 6. &b3 &cl) 2. ... a3 3. &d6 ba
4. Hc5b35. Eb4 b2 6. Hcd a2 7. Had+ &bl 8. b3 &cl1 9. HEca+
12) 1. b7 b4 2. Hab a2 3. Hb5hb3 4. b4 b2 5. Ea7+ &bl 6. b3 Hcl7. Ec7+ &bl 8. Eh7

36 Endgame / Rook against pawn: D
1) 1. g7 Bfl+ 2. &gb (2. £g8? &e7 3. h7 Ehl+ 4. g6 Hgl+ 5. h7 &f7 6. ©h8 Hhil#)
2) 1. b7 Ea2+ 2. &bl! Eb2+ 3. al Eb4 (3.... Eh2 4. b8W HEhi+ 5 Wbl Exbl+ 6. &xbl;3.... Exb7
stalemate) 4. b8 H xb8
3) 1. Le5 (1. f5? &3 2. He7 Hed+ 3. ©d7 Hf4 4. Heb gd) 1. ... ©e3 2.5 Hed+ 3. ©d6 Hf4 4. Heb
4) 1. g5 &c3 2. Hf6 &d4 3. Heb
5) 1. d3 (1. &e3? &c2 2. d4 &d2 3. ed &e2 4. f5 B8 5. &fd f2) 1. ... docl (L. ... b2 2. &dd &b3
3.15 H18 4. beb) 2. ded &d2 3. 15 (3. be5? Hes+) 3. ... &e2 4. 6
6) 1. eb Hd8 2. Hf6 Hf8 3. Le6 Eh8 4. Hf6
7) 1. e5! (1. &g7? Hgl+ 2. ©h7 Bfl 3. dgb ded 4. 16 deb; 1. eb? &fd+) 1. ... &d3+ (L. ... 2f3+ 2. &d6)
2. &d6
8) 1. b6 (1. &c5? Hcl+) 1. ... ©c2 2. b5 Hh3 3. Hc6 Hcl+ 4. Hd6
9) 1. &b4 &Hc2 2. ded
10) 1. b5 &d52. b6 Ec8+ (2.... Ec1 3. b7 Hal+ 4. b8 &c6 5. Lc8 Hhl 6. b8 +!) 3. La7! &cb 4. b7 Hc7
5. a8 Exb7
11) 1. &b3! (1. Had? &g2) 1. ... Eha (1. ... &g2 2. &ca &3 3. b5 ded 4. b6 Hhl 5. 5 Ecl+ 6. Hd6) 2.
Pad! &g2 3. Hb5! Hf3 4. &b Led 5. b5 Hh5+ 6. b &d4 (6. ... Eh6+ 7. &cb5!) 7. b6 Hh6+ 8. &c7 &cb
9. b7 HEh7+ 10. &c8 &cb 11. b8 +!
12) 1. &g3! (1. &3 Had 2. &g3 b2 3. bhd &3 4. &g5 bdd) 1. ... Hadl (1. ... &b2 2. &fh) 2. Hha Hb2
3. g5 &3 4. Hf5 Hab5+ 5. ofe Hab+ 6. &f5 Hd4 7. g5 Has5+ 8. &fe Hab+ 9. &f5

37 Strategy / Strong square: A
1) 1. ... £xb3
2) 1. e6 fxe6 2. He5
3)1.a5
4)1. £d5
5) Drawing
6) 1. £h3
7)1. ... £f82. &Hc2 £h6
8) 1. &.xf6 £xf62. £d5
9)1...b4
10) 1. ... f3
11) 1. g3 A 2. £xc6; 1. £xc6? Hed+
12) 1. hhl

38 Defend against mate: A
1) 1. Wag+ (1. Wa7+ &c8) 1. ... oxad 2. £.xd5+ &b8 3. 2xf3
2) 1. .. B3 2. &xf3 (2. Exf3 £.6+) 2. ... Hf7
3) 1. ... Wxg5 2. fxgs £xg5+ 3. &c2 H xeb
4) 1. ... Exgl+ 2. &xgl £e3+ 3. &flh5
5) 1. Hell (1. &1 Wxfl+ 2. dxfl Hhi#) 1. ... Wxel+ 2. HHf1
6) 1. ... &xed+ (1. ... Wd3+? 2. dal £xed 3. Exg7+ &xg7 4. Eh7+ g8 5. & xf7+) 2. Wxed Wd3+
7) 1. ... &e3+ (1. ... c4 2. Exg8+ &xg8 3. &xcd+) 2. &d3 c4+
8) 1. Hb8+ (1. Hb5? Wha+and 2. ... Hxb5) 1. ... h7 2. Eb5 Exb5? 3. Wd3+
9) 1... Hdl 2. Exdl Wxf6
10) 1. ... &Hf2+ 2. &h2 HHgd+ 3. &h3 HHf6
11) 1. ... We3+ 2. dxe3 N5+ 3. Hf2 Hg7
12) 1. ... Wd4! (1. ... Wcl 2. Wd8+ £)c8 3. Was+; 1. ... Wal 2. Wds+ &)c8 3. Wxe8)



39 Defend against a passed pawn: A
1) 1. 2b3g5(1. ... b1W 2. Hf7#) 2. &xc2
2) 1. £Hd5 g2 2. &Hf4 g1W 3. He2+
3)1. Eh8 c1lW 2. Hd8+ &c5 3. Hc8+
4) 1. .. Eb3+ 2. &g2 Hb2+ 3. &f3 Hd2
5) 1. Hab &xa5 2. b+ &xb4a 3. b2
6) 1. Hd1+! He7 (1. ... ©c7 2. Heb+; 1. ... ©c8 2. Heb) 2. Hf3
7) 1. Eb8+ a7 2. He5 elW (2. ... &xb8 3. {1d3) 3. Hcb#
8) 1. £al! &bl2. 2d4 Hc23. e5
9) 1. £el fxelW 2. Hg2+
10) Drawing
11) Drawing
12) 1. Hfel alW 2. H1e7#

40 Overcoming a passed pawn: A
1) 1. HHe5b2 2. HHcd b1 3. Ha3#
2) 1. Ea3+ &bl 2. Hb6 Hc2 3. Had! b1W 4. HEc3#
3) 1. Ehd+ &g2 (1. ... &gl 2. Hg3) 2. Ehl &xhl 3. Hg3+
4) 1. Ha5 alW 2. Bab+ Hb8 3. Hcb+
5) 1. Hg5! flW+ (1. ... bh5 2. Hed+ bha 3. Hd2!) 2. O3+ Hh3 3. Hhs+ g2 4. Eh2#
6) 1. Ed2 &bl 2. DHed c1W+ 3. Hc3+ Kal 4. Haz#
7) 1. &Hd6 h2 2. ZHb5+ &b8 3. Hf8#
8) 1. £)d4 exd4 (1. ... al¥ 2. Hds#; 1. ... bxd4 2. Hds#) 2. Hg5+ &d6 3. Hab
9) 1. Hel (1. Hxf2 stalemate) 1. ... f1W+ 2. N3+ Hh3 3. Eh5+ Hg2 4. Eh2#
10) 1. £)d7 a6 (1. ... a5+ 2. Hxa5+) 2. Eb8+ a7 3. £)e5 g1W (3. ... Hxb8 4. HH3) 4. Hicb#
11) 1. HHf8+ &6 2. HHA7+ g6 3. Heb+ g5 4. H6
12) 1. HHxed 18 2. B b3 bxb3 (2. ... Wgl+ 3. Hc5+) 3. Hd2+

41 Defend against threats: A
1) 1... He8 (1. ... Wxd7 2. HExd7 Exf7 3. Ed5)
2) 1. b5 (1. &d2 £ba+ 2. el exfa 3. b5 &6 4. Hixdd £.96; 1. Lxe5 £ bak)
3) 1. Wxh7+ (1. Hxd4? Bf1#; 1. Hel? Hf5+) 1. .. &xh7 2. Hxf8+ g8 3. Hxd4
4) 1. Hd6 HExe5 (1. ... Hf8 2. We7) 2. Hxe5 (2. ... £g8 3. He8+ Wxe8 4. H)xe8)
5) 1. £c2 (1. bxc4? Eal+ 2. &c2 Lad+; 1. £c3 Hxc3; 1. &3 HHixd2 2. Exd2 Hal+)
6) 1. .. £d3 (L. ... £xg2 2. bxc5) 2. £a2 (2. £xd3 Hxd3 3. PHxh6 (3. &xd3 &xf7) 3. ... &Hxb4) 2. ... £)a6 3. b5
Hba 4. 2b3
7) 1. ... Web+ (1. ... Exf1? 2. b5+ &d7 3. Exc6; 1. ... &f7+? 2. Exf7+ Exf7 3. Hb5+) 2. Hd5+ &d7 3. Exf8
Wxd5+ 4. dal HExf85. Wxf8 &7 =
8) 1. Wxd2 (1. W8+ &h7 2. Excl dxclW+ 3. Hh2 fxe6) 1. ... Wxd2 (1. ... Wxel+ 2. Hixel) 2. Exal Wd5
9) 1... Hel+ (L. ...cxd6 2. Wad; 1. ... Wxfd 2. d7+) 2. Hxel (2. £xel Wxf4 3. d7+ d8) 2. ... Wxf4 3. Hbdl
(3. £93 Wad) 3. ... cxd6
10) 1. We7 (1. We6? Wed 2. Hae2 Hxel+ 3. Hxel Wxe6) 1. ... We5 (1. ... Wdl 2. Hae2) 2. We2 (2. We6? Wed)
11) 1. ... Exfa (1. ... B6 2. D7+ g8 (2. ... ExI7 3. Wxf7) 3. Hd8+ 2.6 4. Hxeb) 2. D7+ (2. gxfa Lxfa+ 3. g3
£ xg5; 2. Wf7 Eha+) 2. ... Exf7 3. Wxf7 &xg3+
12) 1. ... Efe8 (1. ... Wxc4 2. He7+ Hh7 3. Wxh5+; 1. ... Dxcd 2. De7+; 1. ... Ed7 2. Wxh5; 1. ... Ede8 2. Wxh5
gxh5 3. A f6+) 2. Hfe+ HT8

42 Rook endings / Mate: A
1)1. Ha8! &xad 2. 2hb#
2) 1. Heb6 A2. Hhé+ 3. g6+
3) 1. &g8
4) 1. &d3 Hd7+ 2. &c3 A 3. ba#
5) 1. f5+ h6 2. Hg8!
6) 1. a3+ Hxa3 2. Eg4 A mat.
7) 1. .. Bd6 2. Exa7+ e
8) 1. &f6 Hf2+ 2. &g7 g4 3. Has+
9) 1. g4! Exg4 2. Ec7 A mate
10) 1. HEel+ Ebl 2. HEcl Excl 3. &xcl h5 4. gxh6



11) 1. ... He52. Hgd+ &c3 A3, ... Has+
12) 1.5 Hxg3 2. 6

43 Rook endings / X-ray check: A
1) 1.... BEh7+ 2. &g4 HEg7+
2) 1. Eh6+ &d7 2. Eh8 HExa7 3. Eh7+
3)1. Bad Exad 2. Eh3+ &d4 3. Ehd+
4) 1. a3+ &xa3 2. Ha5+ b4 3. Had+
5)1... Ba3+2 &ed Had+ A3... Bh4; 2. He2 Hal
6) 1. g3 &f72. Zh8 (1. Eh8? Ehl+; 1. Eg8? Eh1+A2. ... Hgl+)
7) 1. b6 axb6 2. a7
8) Drawing
9) 1. e7 Hxe7 2. Ec8
10) 1. ®ed4 h3 2. Eh8 Exa7 3. Eh6+ &e7 4. Eh7+
11) 1. a6! bxa6 2. Ea8; 1. ... Eh6 2. axb7 &xb7 3. c6+ (1. c6? ab!)
12) 1. Hgl1! Ha2 2. Hg8 (1. Eg8? Ehl+)

44 Rook endings / Passed pawn: A
1) 1. Eb7 &c8 2. He7 &d83. Ha7
2) 1. Bf7 &c6 (1. ... ©c82.e7 &d7 3. e8W+; 1. ... b8 2. 67 Hc8 3. Hf8) 2.e7 HEc83. Ef8 &d7 4. Exc8
3) 1. Bd2+ &e7 2. f6+ He8 3. f7+ He7 4. Exd8 Hxd8 5. faW+
4) 1. h7 Hf8 2. Hg4+ &h6 3. Hg8
5) 1. He7 HExe7 2. f6+ Hxf6 3. hW+
6) 1. al &ad 2. ©b2 Eh53.a7 Ha54. Eb3 (4. Eb7)
7) 1. a7 Exh6+ (1. ... Ed8 2. h7 &f7 3. Hg8) 2. Eh4 Exhd+ (2. ... Hab 3. Eh8+ e7 4. a8W+-) 3. &g3
8) 1. Hc3+ ka4 2. HEcl Exb7 3. Hal+ &b54. HEbl+
9) 1. Ee8(1.... &g6 2. Exe6+ Hh7 3. Hcb6 Ea3 4. &e2)
10) 1. Ef6 (1. Eg7+ $h82. Hf7h2)1.... He8(1...h22. Ed6 HEe8 3. Hd8) 2. Hd6
11) 1. a4 HExad+ 2. b5 Ha7 3. c6
12) 1. Eb2! Exc7 2. Eb8+ &f7 3. Eb7 He7+ 4. &d6 Hxb7 5. axb7

45 Rook endings / Mix: A
1)1... Hg82. Ha4 Eg3
2) 1. Ec8+ (1. b6 &b5 (1. ... Hel+ 2. &d6 &b5 3. b7 &b6=) 2. ©d6 &ab=) 1. ... &b4 2. b6
3) 1. h5 Exh5 2. He5
4)1. Ehl+ &g2 2. Hcl Ha8 3. HExc2+
5) 1. ... &e7 (1. .. &d8 2. b7) 2. Eb4 (2. Bha &d6) 2. ... Bd8 3. ded Hd7
6) 1. Bf3 (1. He2 &g7) 1. .. Bel+ 2. &f7 Ehl 3. be7
7) 1. &3+ (1. Hd5 &g3) 1. ... $h3 (1. ... gl 2. g3 &fl 3. Bh2c4 4. g5) 2. Hd5 HExh7 3. Bh5+ Hxh5
4. gxh5
8) 1. g7+ Hc8 2. &b5 (2. ©b6? Hadl) 2. ... a2 3. Eg8+ b7 4. Eg7+ Hb8 5. g8+
9) 1.... Ec82. g3 c5+ 3. bxch+ bxc5+ 4. Excb HExch
10) 1. Hc5! Hh6 2. Hcb+! (2. b5+? &b7) 2. ... Exch 3. b5+ b6 4. bxc xch 5. &ab (5. ©b4? &bb) 5. ... bh7
6. b5
11) 1...f6 2. f4 (2. f3 Hf1) 2. ... Bf1 3. fxg5 (3. f5+ &h6) 3. ... fxg5
12) 1. ed! (1. &e5? Hd3!; 1. &c5? Hd3) 1. ... Hel+ 2. &f3 (2. &f4? Hdl) 2. ... Hdl 3. Hxa3 Hxd54. Hal+

46 Attack on the castled king: A
1) 1. .. Exf3 2. gxf3 Wg5+ 3. &h1 Whs
2) 1. &Hf6 £.98 2. HHh5 gxh5 3. WeH
3) 1. &6 gxf6 2. Wxfe £h7 3. Whe+ £ g8 4. Wxh6#
4) 1. Hhe+ B8 2. Hf5
5) 1. Wxh7+ &xh7 2. Eh3+ &g7 3. £h6+ Hh7 4. £ 18+
6) 1. Wxg4 fxg4 2. Hg6+ hxgé 3. hxgb+
7) 1. Wixg6 hxgé 2. H)f4
8) 1. Wxh7+ &xh7 2. Exh7+ Exh7 (2. ... &xh7 3. Hh3+) 3. Eg8#
9) 1. &Hfe+ gxf6 (L. ... ©h8 2. Wc2) 2. Wgd+ W5 3. & xf6
10) 1. E xg7+ &xg7 2. £h6+ Hxh6 3. Wie+ Hh5 4. & d1#



11) 1. £xh6 Exh6 (L. ... £97 2. £.g5+ g8 3. £.76) 2. Wxh6+ Hxh6 3. Hg5
12) 1. &Hh5 gxh5 2. Hgl

47 Attack on the castled king: B

1) 1. &Hf5 exf5 2. HHd5

2) 1. Exc6 Hxc6 2. Whe

3) 1. Wo5+ &h8 2. Hg3

4) 1. Ba7 Wxa7 2. d7

5) 1. b4 (1. £.x76 hxg5) 1. ... Wh5 2. & xf6

6) 1. ... b4 (L. ... OHF3+? 2. £xF3 Wxf3 3. Wed) 2. axbd (2. f3 £.05+; 2. W6 HF3+) 2. ... HHF3+ 3. £xF3 WxF3

7) 1. ... £.xe5 2. fxeb &)g4 3. h3 Wg3

8) 1.... Hb3 2. 2xb3 2 xe3+ 3. Wxe3 Wq2#

9) 1. Wg5 Eb8 (1. ... £xg5 2. Eh8+ g7 3. B 1h7#) 2. HHxfe+
10) 1. ©ed (1. Wxh5? Wxg2#) 1. ... W 2. Wxh5 (2. HHxh7 L.xed 3. H)xf8 db)
11) 1. ... 2d2 2. £xd2 (2. £.xF3 Exf2 3. oxf2 Wha+ 4. £92 £hd) 2. ... Ld4
12) 1. 2.xed (1. Hxg7 &xg7 2. £xed c5) 1. ... Hxed 2. Whe &6 3. 2xf6

48 Attack on the castled king: C
1) 1. Wxf7 Bxf7 2. B g8+ Exg8 3. exfr#
2) 1. Bf6 Wxe5 2. Wxh6+ £xh6 3. E xh6#
3) 1. Wh6 $h8 2. Hg3 Hgs 3. Wie+
4) 1. Wg5 d5 2. Wg7+ £xg7 3. 2xg7+ g8 4. &.f6#
5) 1. Wo5+ f8 2. W6 (2. Hh4 $e5) 2. ... 25 3. Wxe5 f6 4. Wxf6+ X7 5. Whe+ e7 6. Hd7+ £.xd7
7. Exd7
6) 1. £c7 Eb8 2. He8
7) 1. 296+ g7 (1. ... fxg6 2. Exgb exf5 3. Wxh6#) 2. Lh7+ dxh7 3. Eh3 Hh8 4. Wxh6+ g8 5. H g3#
8) 1.... Hel 2. Exel W3+ 3. &gl £h3
9) 1. HHg5 £xf5 2. &Ixh7 Web 3. HHxf6+
10) 1. ... Wh3 2. B gl Hh5 3. HHxh5 Wxf3+
11) 1. g3+ &h7 2. &5 Whe 3. Xh5
12) 1... £f82. 26 £97 3. Hd3 Wa3

49 Attack on the castled king: D
1) 1. HEg6 fxg6 2. Wxg6+ &h8 3. Wxh6+ Wh7 4. Wxfg+
2) 1. We3 (1. Wg5? Wig) 1. ... Wfg 2. Wxd4
3) 1. £.c4+ &h8 2. Wxh6+ gxh6 3. g7+ &7 4. gxf8e\+ &h8 5. K gs#
4) 1. g7 Exg7 2. fxg7+ Wxg7 3. B8+ Wxf8 4. Wxf8# (4. Wxh7#)
5) 1. &Hxc6+ dxc6 2. Ha7 Wel 3. Hxcb#
6) 1.... Exa3 2. bxa3 Wh4
7) 1. Wal+ E697 2. Exh7+ &xh7 3. Whi+ g6 4. Who+ Hf6 5. eb#
8) 1. £c4 (1. £b5Wd6 2. 2xe8 HExe8) 1.... Wxca (1. ... Wf6 2. fxg6; 1. ... a6 2. &xf7+) 2. f6
9) 1. £xg6 hxg6 2. Wxg6 Hxd6 3. Exf7
10) 1. We2 £e6 (1. ... Wxe2 2. H\XF7#; 1. ... W6 2. We5 (2. HxF7+) ) 2. D)7+ WxF7 3. Wes+ W6 4. Wxfe#
11) 1. &5 (1. Wgd+? Hh8 2. W5 ed) 1. ... £)e6 (L. ... h6 2. Wgd+ Hh8 3. Wha g7 4. Wg3+ (4. Ef1) 4. ... h8
5. We3) 2. Wh5 X e8 3. Wxh7+ &f8 4. Whe
12) 1. 2Xg7 HHxg7 2. Hd8 Hceb 3. Wxg7+ Hxg7 4. Hhe+ Hh8 5. H xf8#

50 Strategy / Open file: A
1) 1.4
2) 1. cxd5 exd5 2. Hacl Hac8 3. £2.a6
3) 1. Hgb
4)1. Hcb
5) 1. ... &)b4
6) 1. £a6!; 1. Hacl Eac82. £a6 Hch
7)1... 5 g3 2. Hcl Hed
8) 1. Hc8 &8 2. Exd8+ Exd8 3. HEc7
9) 1. HHd3

10) 1. ... Hc6 2. Exc6 Wxc6+



11) 1. g4 (1. £.95 g7 2. Lxf6+ &xf6 3. £d7 Eb8 4. c5 &eb 5. Hc7 6)
12) 1. We5

51 Strategy / Open file: B
1) 1. f4 (1. f3 f6 2. exf6 gxf6 3. &f2 &7 4. Hbl He8) 1. ... g5 (L. ... f6 2. f2 &7 3. Hbl He8) 2. &f2 (2. fxgs
&7 3. &f2 Hb8) 2. ... gxf4 (2. ... g7 3. Ebl 6 4. Hb7+ g6) 3. Hbl &g7 4. Hf3
2) 1. Hc6 Wds (1.... We8 2. Exf6 gxf6 3. £2xd5 Hc8 4. Wg6+) 2. a4
3)1. Exd8 Exd8 2. £a3 Hc83. Edl
4) 1. W3 (1. Wxed dxed 2. Hedl (2. Exc8 Exc83. Hdl) 2. ... h5 (2. ... &8 3. Hxc8 Exc8 4. Hd7 b8 5. g4)
3. Exd8+ Exd84. Hc7 Eb85. He7 f56.h3 &f87. Heb) 1. ... Wxf3+ 2. Hxf3163. HEedl Excl 4. Hxcl
Hd7 5. b4 &f7 6. g4 g5 (Waardenburg,F-Koning NL ch jr Rotterdam 2016)
5) 1. Hc6 &h8 2. Hfcl g6 3. W3
6) 1. Hadl He7 (1.... Ec72. Ec3 Exc3 3. &xc3 &e7 (3. ... DeB 4. Hd4 HHc7 5. &)c3) 4. 4)eb) 2. HHbe Hd8
3. HEc3 &d6 4. Hcb
7) 1. &Hxb5 Wxb5 2. £h3 Excl 3. Excl
8) 1. Wd1 W6 2. Hd7 Hc7 3. Hd6 Wed 4. Hd8+ g7 5. h4 (5. Hb8 g5 6. h3 g5 Hb8!)
9) 1. ... b5! (1. ... &eb 2. &f2 b5 3. )d2) 2. cxb5 axb5 3. &2 (3. a4 Hc3)) 3. ... beb (3. ... Had 4. Hd2 &)c6)
4.e4 Ha8
10) 1. Wall &Of5 (1. ... £)c6 2. Hcl) 2. Hcl Wd7 3. We3
11) 1. ... &ed 2. We3 (2. Hxed Hxdl+ 3. &xdl Exdl+4. Hel Wd7 5. h3 Hd3 6. Wc2 g6 7. He2 Wd4)
2.... Bxc2 3. Wxed4 Exb2
12) 1. 226 Wh8 2. &xb7 Wxh7 3. Wc2 He8 4. Wc7 He7 5. Wd6

52 Draws / Stalemate: A
1) 1. Eg7+ &xg7 (otherwise perpetual check) 2. £ d4+ Wxd4 stalemate
2) 1. ©e8 &eb (1. ... 2xf6 stalemate) 2. f7+ g7 3. f8W+ H)xf8 stalemate
3) 1. Wd1+ Wxd1 stalemate
4) 1. &h4 a3 2. Hh5 a2 3. h4 a1 stalemate
5) 1. a8W (1. g5+? &f7 2. g6+ &8 3. a8W+ & f8+) 1. ... cl+ 2. g5+ £xg5+ 3. &h7 Hxa8 stalemate
6) 1. Wh5+ (1. Ef3? Wxf3 2. Wc2+ &g8) 1. ... g8 2. Hfs+! Hxf8 3. Wf3+! Wxf3 stalemate
7) 1. Hab+ £xa6 2. a8W+ b6 3. Wa7+ Hxa7 stalemate
8) 1. Hab Wxa5 (1. ... Wh3+ 2. f8 Wxab 3. We5+ Wxe5 stalemate (3. ... &6 4. Web+ Wxeb stalemate)
2. W5+ Wxf5 stalemate (2. ... &h6 3. Wfe+ Wxf6 stalemate
9)1.... HEgl+ 2. Exgl Hg3+ 3. Wxg3 (3. Exg3 Wg2+) 3. ... Wxgl+ and stalemate
10) 1. Whi! (1. £92? f1W+; 1. Wa2? W3+ 2. g6 Le5 3. ©h7 &b7; 1. Wa5? Whl+! 2. g5 Wes 3. Wxa3
£f4+) 1. ... Wxhl 2. 292+ Wxg2 stalemate
11) 1. Ehd+ &Hxh4 2. B fa+ Wxf4 (2. ... £.xf4 stalemate) 3. g3+ g4 (3. ... Wxg3 stalemate) 4. gxf4 2.xf4 5. g2
Yo-Y2
12) 1. ... f6+ 2. Wxf6 Wha+ 3. &xh4 g5+ and stalemate

53 Draws / Insufficient material: A
1) Drawing
2) 1. &Hc7+ a7 2. 2.d4+ Wxd4 3. Hb5+
3) 1. Bf7+ Hxf7 (1. .. ©g52. Hg7+; 1. ... eb 2. LHdBH) 2. HHxe5+
4) 1. &cl 214+ 2. &dl Hb2 3. de2 dxal 4. &f3
5) 1. He5 (1. &Hh6 2.3 2. &c5 g3 3. N5+ Hfd) 1. ... g3 2. Higd
6) 1. Hda+ &cb (1. ... eb 2. Hed+ dxed 3. Hic5+) 2. Hcd+ Wxcd (2. ... Hbxcd 3. Hda+; 2. ... ©d7 3. Hch+;
2. ... b7 3. HHc5+; 2. ... b5 3. HHd4+) 3. Hab+
7) 1. od1 b3 (1. ... b4 2. d7) 2. &Hed 15 3. &)c3
8) 1. &c8 (1. &d6 He3) 1. ... 297 2. &c7
9) 1. HEed Wg5 (1.... Wd8 2. He8+ Wxe8 3. /DHf6+) 2. Eg4 Wxg4 3. HHf6+
10) 1. d7 Wrxd7 2. £.c6+ Wxc6 (2. ... xcb 3. He5+) 3. HHda+
11) 1. b8D+! Hb6 2. N7+ &xcb (2. ... DHxd7 stalemate) 3. £ixch
12) 1. s+ Hf2 2. Hfl+ &g2 3. He3+ £xe3 4. Hxhl

54 Draws / Insufficient material: B
1) 1. &/hd5 Ea3 (1. ... Eal 2. &Hxe3) 2. HHc7+ a7 3. Hb5+
2)1. 2e8 Heb6 (1.... HaB8 2. £¢6) 2. £2d7



3)1. Ha8 Ha22. Ed8 Bd2

4)1. £13+ $b8 2. £g2 £e23. £f3 &1 4. 292

5) 1. &Yd5 He5 2. H)fa+ bga 3. HHd3 Hd5 4. Hixel Hd2 5. byl

6) 1. g2! Wg7+ 2. H g3 Wxf7 3. Eh3+

7) 1. e8W Hxe8+ 2. Hxd7 and the bishop is lost, after 2. ... g8 follows 3. £.d5+

8) 1. /hd3 BEd1 2. &c2 Hf1 3. &h2

9) 1. b6 (1. b8W? Had+ 2. b7 HEba+ 3. dc7 Hxb8; 1. h6? ¢5 2. bbb Eba+ 3. &6 Exb7) 1. ... &d7 (L. ...

&d5 2. h6; 1. ... Eba+ 2. xc6) 2. b8+ (2. bW Eba+ 3. a7 Hxb8 4. xb8 e7) 2. ... &d6 3. Hixch

10) 1. doc6! Hxd5 2. Hc3+ &d4 3. H)xb5+ (3. X5 bd) 3. ... &e5 (3. ... hcd 4. Ha3+ &d4 5. Hb5+) 4. HcT
11) 1. Hg3+ &Hxg3 2. Eh2+ Wxh2 3. g7
12) 1. HHe6! Hxh3 (1. ... fxeb+ 2. £.xe6 HExg5+) 2. g6+ Hxg6 (2. ... fxgb 3. Hg5+) 3. Hfa+

55 Endgame / Wrong bishop: A
1) 1. &f3; 1. &xd4? &gd 2. He3 &g3; 1. &f4 Hha 2. Hf3 Hh3 and and the king will not reach the corner.
2) 1. &f2! and the king will reach h1 (1. &3? 2.5 2. &f2 £h2 3. &f3 Hf5; 1. Hf1? 2.d4)
3) 1. &c2 and Black must give up the control over b2 or bl; 1. &c3? &bl 2. &cd &b2 (De Feijter 1940)
4) 1. He2! h3 2. &f3; 1. a5? h3 2. &f1 £¢5 and the black king stops the white pawns.
5) 1. &d6! &xb7 2. &c5ad (2. ... 2ab 3. cdad 4. Hbal; 2. ... Le2 3. &dd) 3. db4; 1. &d4? a4 2. Hc3 a3
(Mockel 1962)
6) 1. el &cb 2. Wxd5+ &xd5 3. &d2; 1. ... Wxg?2 is stalemate.
7) 1. &f7 &h6 2. Hg8 keeps the black king out of the corner.
8) 1. ass5 &d5 2. a6 &c6 3. 2.d8
9) 1. £b6 &c6 2. La5
10) 1. £8 &6 2. h6; 1. h6? Hf7 2. Led g8
11) 1....h3 2. &f3 &4 3. &f2 2h2 4. Hf3 Hf5
12) 1. &c5 He7 2. &cb $d8 3. b7 &d7 4. £.c1 and now because the black king cannot reach the corner any
longer, it is time to collect the a-pawn.

56 Endgame / Wrong bishop: B
1) 1. £b6 &6 2. £a5
2) 1. 2ed Hxed 2. g4 He5 3. g5 (Vancura 1922)
3) 1. 21 (1. £94? &f2 2. 4 Hg2) 1. ... &2 2. by HxF1 3. &xh3 Hf2 4. g (De Feijter 2005)
4) 1. ed 2c72. &f5 2d8 (2. ... h4 3. &g4 2d8 4. c7 £.xc7 5. &xh4) 3. c7 &xc7 4. &g5
5) 1. £2e1 g3 2. £.xg3 hxg3 3. hxg3
6) 1. ... &c7
7) 1. £2e6 &e7 2. h6 &f6 3. 215 &f7 4. 2h7 &f6 5. Hf4
8) 1. 204 h5 (L. ... g3 2. &f6 &h4 3. g6 h5 4. Hf5) 2. &5 hxgd 3. hxgd g3 4. &xg5
9) 1. £2.h6 g8 2. £xg7
10) 1. a4 &d4 2. a3 &3 3. b5! (3. ad b2 4. a5 &b3) 3. ... axbs
11) 1. a7 (1. £e532. £93123. &xf2 &bs) 1. ... f32. £d4 b7 3. ad e 4. a5 (4. $b8? &d5 5. &2 &cd
6.a5 (6. £el f27. £xf2 &ba) 6. ... &b5 7. £b6 f2) 4. ... &b5 5. ab 6 6. Hb8
12) 1. £98 &f6 2. &f3 g5 3. £h7



